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I.  Specifics and anecdotes related to wnn v1Tp
a. Indecipherable statement: if it was born before midday vs. born after midday
i. Challenge: to YR1mVY’s reputation of expertise
ii. Explanation: if the 75 occurred by midday, it could have been seen by n"npw
1. Reason: need a full night and day of the new moon to be v1pnn, per v1 or v2
a. Difference: count until nightfall (v1 — 29p) or mxn (v2 — mxn)
iii. Value of information: testing veracity of witnesses
Postulate: the moon is invisible for 24 hours (value of information: testing veractity of n»y)
i. In 523 1% 6 hours belong to old cycle, next 18 belong to new cycle
ii. In 587w pan: 1318 hours belong to old cyble, next 6 belong to new cycle
Rule of 2days v”> we always add later (i.e. add the 16% to the 15" — never the 14')
i. Reason: only way it could be early is if there were 2 defective months in a row - would be heard
7% story of nY’s arrival in 921 on »wna &’ and telling them that it was 3”1V as per »& reckoning
#2m7 7 any city where mmbw arrive for 1971 but not »wn keep 2 days nvs; precaution against »wn
~27 would fast 2 days on ”nv just in case — and once it turned out he was right
271 had just finished 5”1y when news came that it should be next day — applied v3
Intercalation: if winter would continue until 16" of jo%1 (due to v4 — must be in 2aR)
i.  Sailors: may reckon T (for ynn 7»°1) as night when moonrise/sunset and moonset/sunrise are aligned
i.  Onland: it's 15%; due to expanded horizon, one day earlier at sea
II. "1 mwn — desecrate naw to testify about »wm jo73 — MYV go to RV, calendar is adjusted -
a. nay 55 per v5 - nTna
b.  During times of w77p. naw oYonn for each month due to the 127p
c.  For the 6 months mentioned above: they go out w/o hearing wnpn, for »wm 1973, must hear v1pn
1L ’n mwn — naw %N to testify about clearly seen new moon (251 — as per v6)
a. 7’ nonetheless, come to testify (including naw 5%n)
b. sor "1 if seen clearly, (99v2 - v6; [tangents — vv7-10]) don’t come to testify (with naw %1%n)
IV. "y mwn — story of many witnesses that ¥" stopped at W (really an official who lost his position as a result)
a. Response: this will keep them from coming in the future (should have let them come to testify)
V. 1 mwn - father and son testifying together
a. p’m may not, but should both go in order for one of them to join another to testify
b. " may testify together (as per v11- 1908 nwn may testify together)
c. oy /1 supports p"n with story of man, son and freed slave —
i. 7. accepted man and son (slave — not onvn); 71 accepted man and ex-slave (contra v")
d. 7257 follows 'ov "7 (Whose opinion was reported as w™’s)
VI. 'n mwn - invalid witnesses for wnn M1y include gamblers, usurers, bird-racers and n>»»aw »mo
a. Rule: any testimony for which a woman is invalid — these are also invalid
i. Therefore: 131277 191 (like ®'21p2 pnwn) is valid for nwr MY (for which a woman is n7w2)
VIIL. "v mwn — all steps taken to help someone get to testify (provisions etc. including naw %1%'n) — due to v5
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